51.

52,

53,

PAPER - II (MANAGEMENT)

Which of the following are merit of IRR method of Capital Budgeting ?

IRR method recognised time value of money
Acceptance rule r > k

A
B
@ Itconsiders all cash flows occuring over the entiré life of the project to calculate its rate of return
D. IRR method is good choice for mutually exclusive project.

b Value additivity principle implies in IRR method;

Choose the correct answer from the options given below !
(1)  A,BEonly 2 ABCDonly (3 A,BConly @ CDEonly

aﬁﬁwmﬁmmmﬁm%@mwmaw

A IR SR SR TG 6 % e T 1 Qe GeH HE 8 |

mﬁﬁﬂ'ﬁlr:vk
%Wuﬁwa%%@qﬁﬁw%wﬁmﬁﬂmﬁmﬁaﬁmwmﬁmmm%r
HTE AR AR T greefiss = afm & fo 3o famed 21

AR AR R 95 H qeu dnmersrar fagia smiee ¢ |
ﬁﬁqwﬁmﬁﬂﬂﬁwmwaﬁm

(1) e A,B,E @) ¥a@A,B,CD (@) FHIAABC @) FFAC,D,E

Which of the following strategies are true to become afamily friendly manager ?
Allowing employees’ children to come to work with them occasionally to celebrate a special occasion.

Accompanying employees to their children’s ball games.

Sending birthday cards or cakes to employees’ family members.

Driving to an employees’ house to be with her/his family following a death in the family.
Allowing back door attendance incase of unauthorised absenties.

Choose the correct answer from the options given below .
(1) A,B,Conly @ A,B,C Donly (3) B,C,D,Eonly (4) A,BD,Eonly

Fgwsl STl Wt a o forg freifena # @ i W ool (FrEHifr) w68 T2

FHET 3 a=) ) H- i (- ) fo ST o HARRIead § S 1Y i 6 g o7
A 311

B H=IfE] 1 AT ATl & g-wd 3 9 <l

C et ¥ g el B S § HE A FE e

D, e i ufErR R g A T S YA % e T ¥ I 3 5w

E oraifg st s g # e s @ (79 w9 §) Iufeafd o5 T B st

3 o T Forehedl H & W I H T FIGL:

(1) Fa@A,B,C () HITA,B,C,D "'C3) #99B,C,D,E (4 FA@A,B,D,E

mognw

monN®p

A

A culture is transmitted to employees ina number offorms. Which among the following is NOT a form through

which organisational culture can be transmitted ?
(1)  Stories (2) Rituals (3) Pre-conceived values (4)  Material symbols

e 3 st fofer 1 X e &t €1 Freferfen 3 & o w9 A e & el et gt #

=0 Bl Hehell § 2
1y @ =R (@) TdfeEiEys @ fEws




58.

57.

The term "OCTAPACE has been used for which of the following content ? 59. Whi
()  Developing HRD climate. A
(2) Developing Human Relations. i
(3)  Developing Human Resource Information system and Research. Che
(1) Developing Humansub-system in the organisation. (1)
siteria’ v &1 wE fefatad 3 | fRer e fom men &2 ar
(1) U 3R S uiEsr fahfad Hiem R
@) WFE Ha faeREd H c
@) A HEEE ge uef $ii sEaE fastaa s e
@) HTed H " 39-usfa fawfaa s a)
J
Arrange the steps of buying process or consumer decision making process from beginning to end. "
A.  Need recognition B. Evaluation of alternatives 60. di
(&4 Information search D.  Purchase
E: Post purchase evaluation of decisions &
4 G 1 YR Foi wfe & | 1 SRy | 2 ¥ e § et Fif
A S[EYIHAl H1 GEHH HEA B.  faehedi 1 g HE a
C. T I G e D. 4
E %4 % 390 (uvEm) fofa w6 geaied ¢
Choose the correct answer from the options given below :
= faw e fosmedi | | W@ S H =T Hii 61. 1
() A,BCD,E 2) AD,BCE ) ACBDE @4 BCDAE il
Interest received by Banking company is covered under which of the following activities in cash flow statement ?
(1)  Operating activities (2)  Financing activities
(3) Investing activities : (4). = Operating or Financing activities
Tt e foerer B dHfe Fut Ay s Frafaren # 9 fFw Seiwam & s w2 2
(1) i framhan @ faxiaa Sramremy
@)  f7em R @ i 1 faEe e
The basic control process involves :
A.  Establishment of standard B.  Feedback C.  Correction of deviation
D.  Feed forward E.  Correction of Strategy
Choose the correct answer from the options given below :
(1) AandBonly () CandDonly (3 ABandEonly (4 AandConly
Tesga foreier wizmar & onfoe & : o
A HIR R ETA B. Wiy c foaem s guR
D. smyfagie PETFE I ¥ UR
a1 faw T faeedl H & TR I 1 FE HISY :
(1) %Had A IRB @) FAACSHRD () Fa@ABIARE (4 FaAAIARC
“Performance Appraisal too often degenerates into.a dishonest annual rituals” Who stated this ?
(1)  Armstrong and Murlis (2) -~ Newton and Findlay
(3) Barlow (4) Grint 62.
"WW%WW:&W%WWWW%W Iy FHod fRTa @2
(1) A SR HfdE (2 A 3R et
(@) A @ fire
18 017 X



59.

60.

61.

62,

\\rhi.(.'h of the f(l“l.'“\'inl' i‘i ] r i f\llh[li 7
S5/ are ¢ mp 1 C in to "’ y
-] / ol Ponents of st ["i‘[l(‘l‘,}’ [t‘ll‘ afirm accor [ 4 ] ,t - -

A. Product Market Scope §
= Compelitive :\dvm\l.\go g gmwlh Vechok
Choose the correctanswer from the options givt;n bEIg‘:“T’GY
A B 7 ;
(E l,m) u\__\ lT mgs 2) . A, B,Conly (3) B,C Donly @ ABCD
TR T st & feru oA 3 s Freifena B @ FA A E 2
A STUIE STSIR HETEA Y _
C. Ot ey D‘ Hfs A
= fow e fasedi # ¥ W@ v 5w it - 2R
(1) FaAA,B (® FEEA,B,C @) Ha@B,C,D @ ABCD

?:3:522; - of the following formula is appropriate to determine the market price per shareas per Walter Model of

' %Wﬁm%’”"’ﬁWﬁiﬂmww{a%ﬁﬁmﬁﬁfeﬂwnjﬁmﬁ{ﬁaﬂﬁﬂaﬁﬂm%?
_Dbv _ _(EPS-DIV) p_ (EPS—DIV) (o)

1 B
(1) = - o - 1<
(EPS— Dlvy
DIV

GESR=— "z = K @ P=DIV + %4 (EFS—DIV)
Match List - I with List - I1.

List-1 List-1I

(Developer/Formulator (HRD framework)

Propounder)
A.  Udai Pareek and T.V. Rao L Integrated HRD system Approach
B. Ulrich and lake IL Human Capital Approach 1
C.  Friedman I  TheStrategic Framework Approach
D.  Curtis and Team IV. The People capability maturity model
TEit-1 3 T Geit-11 1 e i :

1 in

( Formtar / GAsgeat / ufaues ) (T IR € ek ()
A 383 IR SR A T L UEhd T 3R S e () ST
B, Sfe IR H . EC R I
C WS M UAEs ere Sae
D. hfew 3REM V. S amed giges Hisd
Choose the correct answer from the options given below :
43 few T Foredl H & W@ I HT T HIC

(2) A'I! B']I: C—DI, D-IV

(1)  AJBIILCIDIV |
(4)  AdV,BILGLDI

(3) AJLBIILCLDIV

“Purchasing Power Pairity Theory” ?

Who has propounded the
S.E. Thomas (3) S.A.Pigou (@)  Alfred Marshall

(1)  Gustav Cassel (2

(1) T wEd (2 TEE dEE (@) uEE @)  oTchs WY

017
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ck Assets ?

Z3,00,000, what is the value ui‘(_]m

63 1f Current Ratio4.5: 1, Liquid Ratio=3: 1, Inventories are i Tt & HeA Ay 67. Arrang
afe; ] ST 4.5 : 1, e M =31, a4 e g T 5,00000% 7 g 600000 A1
(1) % 9,00,000 @ 300000 @ 200000 ( .

4.  Match Llisl -1 with List-I1. List-1I [i-}
List-1 Bl
(Lucaled at) eI
(Name of Export Promotion Councils) L New Delhi
A TheGem and Jwellery Export Promotion Council Mumbai A
B. Electronics and Computer Software Export Promotion Cou ncil I Akl B
C Council for Leather Exports L C:C AL C
—  _ D..- TheCashew Export Promotion Council of India V. Ex =
-1 3 e -1 1 e Fi E
-1 T éhc
( Frata wast uftag @0 T ) ( yraferter) =3
A o T sy i gaeE ofee p el (&Y
B. sﬁiﬁwaﬁwmﬁﬂhmﬁﬂuﬁﬂﬁ n 8. WI
c e R m A 20
; 1
D.  wrdra w et gadE uies v, =% (1
Choose the correct answer from the options given below
ﬂ%ﬁqmﬁﬂ'ﬂﬁﬂﬁmmwﬁﬁq: ¢
(1) ALBICIV, DI @ AJIBICIV,DII 69. M
(3) A-ILBIL C-[, DIV @ ALV, B-1, C-11, D-IIT
65. Who has proposed the “Balanced Score Card’ as a tool for financial excellence in organisation ?
(1)  RobertS.Kaplan and David P. Morton
(2) Newtonand Findlay
@) Grint
(4) Barlow
Wﬁﬁﬁﬂs@mﬁmm%mﬁ"aﬁmﬁwm" =1 wfaured fee e ?
1 T T FE i 3fs ot WA
(2) = i fed
@ =
@ T
66. When can brand extension NOT fail ?
(1)  If, without offering any functional or psychological advantage.
(2)  If Extension is done conside‘ring that it is less costly than alternative launch strategy.
(3 K management do not provide enough funds believing that the spin-off effects from original brand name
will compensate.
(4)  Ifcustomers attribute the quality association they have of original brand to the new product.
gtz yar f 2 ¥ fawe T8 8 gehd %7 :
(1) qﬁmﬁwmfmﬁmqmmmﬂﬂﬁmm@
@) memﬁﬂﬂﬁﬁﬁmﬁqﬁﬂqﬁﬁﬁmﬁ@mﬁﬁﬁtl
3) ﬂzqﬁmwmm_mmqﬁmmﬁmﬁfﬁm#m%ﬁwmwﬁaﬁ{ﬁfﬁnﬂt
) Afe ured 4 39 ﬂ'mmﬁm#mmmt,
20
017 )




67.

68.

69.

Arrange the financial Institutions according to their formation fro

A Indian Joint Stock Bank

m earlier to latest.

B National Industrial Development Corporation

@ Imperial Bank of India
D.  The Reserve Bank of India

E Industrial Finance Corporation of India

ettt forita S 1 3 T 3 s o @ AT % A A
B. ¥l sefEae SaeTi HaneH

C  EHHifEe I 3w st

. frod ¥ s shean

E.  SSidc HEHE SNy 3ife shear

afedd FI9, :

Choose the correct answer from the options given below :

9 fou T fashedi § | U S % 9gh S

() ACDEB @ ABDEC 3 BCEDA 4 ADGCEB

Which one of the following is responsible to notify the separate Ind-AS for Insurance Companies w.e.f15¢ April
2018 ?

(1) ICAI (2 MCA () IRDA 4) I1ASB

1 375 2018 A e HUFF ¥ forg 9o 2-TH (Ind-AS) SHfugfed T

(1) °oE WU @2 wWHT

Match List - I with List - I1.
List-T
(Methods of risk analysis)
A.  Sensitivity Analysis

B. Scenario Analysis

e Simulation Analysis

D.  Decision Tree Analysis
Teft-1 & |1 GeR-11 1 e 1T :

gei-1

( iftm fageraor fafér )
A HIEHS faver L
B,  Tgyd favemul IL

c  wiafa (i) favamm IL

D fofa e fawerso IV.

3 et 3 § T S ¥ 2
@ sEemET (@ FELWH

List-IT
(Meaning)

L A computer generates a very large number of scenarios

according to the probability distribution of variable.

I Provides a way to present different possibilities so that we

can be sure that decision we make today, take proper account
of what we can do in future.

I.  Analysing the projects NPV (or IRR) for a given change in

one of the variable ata time.
IV.  Analysing the projects NPV (IRR) for a given change in
combination of variable.

gEi-11

()

FHUT T % WIfehal e o STIHR 3T RGYd o9 il ¢ |
fafir= Horereti &1 wige F9 % fae e fafy wem s el an
gffe=a X Had € T 39 29 i T 7o fofa sifess % ferg
I BT

ferelt o W & ol =R H e i & ferg A o & (o e
R HR) AT = faverao e |

I eh HAISH § Yed IRedA o T T ot (g 3R 3R) wiEem
i1 feveTao] ST |

Choose the correct answer from the options given below :

3 feqw T ferspedi 8 @ W SR T HIAC ¢

(1) AL B-IV,C-I, D1
(3)  A-LB-I,C-II, DIV

(2) A, BIV,CI,D-II
4) A-LBILCIV,D-II

21
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70.

72.

| Tec Imnln}r,il'ul (PEST) Analysis ¢
and )
(2) Mintzberg
! / Peter Drucker

&) Michael Porters 7 o

STHEA > afeh EST e
e -2 e e, e, s S AT (° ) fergerT
o o (2) gzl

; ' : 4 ol
Who has developed the Political, Economic, S0CH

(1) Johnson and Scholes

faefra 7

@) HEEe el @ HEEH

. - e:
One to one marketing (Relationship marketing) does NOT includ

(1) Identifying the customer

(2)  Differentiating the customer

(3)  Loyal customers are cheaper to serve

(4) Interacting with customer

weae fauum (Fey famor) 3 Frefafas wfae & & €
(1) TS &I qe=H ST

@) 7w | faug

(@) T me @ S FE N Wl e ?

(@) TITES % WY Frtend (SHi)

w1

Match List - I with List - II.
List-1 List-1I
(Consumer Motivation) (Meaning)

A Consumer needs L The process by which we select, organise and interpret inpufs o
create a meaningful picture of the world.

B.  Consumer motivation . Amentalstate thatarise spontaneously and reflect people’s positive
or negative reaction to internal and external stimuli.

C.  Consumer’s perception II.  When directed to specific objectives that may satisfy needs.
D. Consumer’s emotions IV.  Whenaroused to a sufficientlevel to drive one to act.
Feit-1 3 e geit-11 1 T Hife :
Teli-1 -1
( S9rarT 9T ) (=)
A IE-AEEEAE L o WihA O g wE S o el ofy w5y g w0 & fag e ©
=, GATEATA S e e §
B. SR I aﬁmﬂﬁﬁaﬁwﬂmﬁmaﬂ;mm#mwﬁmﬂ

TR AR 1 3 3 e i et
c FdmATEE L STEeel w1 % fa fafe sqavd % i e a e

D, A A V. o e o e 3 ferw St e 2 iy s
Choose the correct answer from the options given below :
g fen o faedl H A AH I F T FAAC :
1) AV, BILCL D-11 () ALBILCAL DV
@) ALBILCL D1V @) ANLBAV,C11, D
22 -




73.
74.
1
i
o | 75.
ive
|
l'
1l
76.
" |

on making according to Mintzberg ?

Which of the following is/are the modes of strategic decisi
\ Entreprencurial Mode B. i Adaptive Mode
G Hlanning Made D.  Logicalincrementalisation Mode
Choose the correct answer from the options given below :
() ABony @) A,B,Conly @ B,CDonly 4 ACDonly

firsTerm & STHR, Toriferes frof wfwen &y P 4 S PA A 2
A SERAREE B agefiyed c AWM D, T AdA A
A1 e e faehed § & vl s o

(1) FEGAB ) FAEA,B,C @ #9aB,C,D 4 FIMACD
Which one of the following is incorrect relationship between Mean, Median and Mode ?
(1) Mode=3Median—2 Mean (2) Median= .:_1.(2 Mean + Mode)
3
1 ' >

(3) Mean= = (3 Median +Mode) (4) 3Mean+Mode=3Median + Mean
1A, HIfeAHT AR Tge & s Ter ey FrAtared § 9 e ?

(1)  Fgeth =3 Afeah— 2 A ) mﬁmm:%{ztnmagaa)

1

®) W:E(Smﬁﬂwmgaﬁ) (@) 3T + g =3 WA + HIEA
Whatare the factors to be considered before entering international market ?

A Economic factor B.  Brand extension factor
(& Social and cultural factor D.  Brand loyality factor

B Political and legal factor
Choose the correct answer from the options given below :
(1) A,CandEonly (2 B,CandDonly (3) A,BandConly (4 C,DandEonly

ST AR H T A g iR § 9 fR et W e frn s e 2

A FfHE FE B. WISWAR®REH C WIS 3R WiHias FF
D. iz fA=iEnE E. Mo iR fafus wres
53 few o fomedi § § Wé S 1 =9 T :

() %#aA,CIRE () H9@B,CIRD () FIAABIRC (4) Fa@C,DIRE

Which one of the following refers to Gross Working Capital ?

(1)  Total current assets

(2)  Difference between currentassetsand current liabilities
(3)  Total Liquid assets .
(4)  Total current liabilities

factfafag 1 B F17 g FEwe e 9 Fed ¢ ?

(1) %= et |
(2) e et S e dAde & W
@) Fe ae wiE

@)  Fe e A

A

. ;-.,_\Iill‘ ‘,'\'l‘\
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78.

List -1
(Teams)

A Problem solving

(-1 % W1 Geit-11 F1 e Hife

B. Self-managed
C Cross-Functional
D. Virtual
eit-1
(Zw)
HHHET-GHEM
B. E-yEfyd

C.  yia-yemaids (9fd-wer)

D. STt

Match List= Iwith List < 11,

IIL.

Iv.

List - 11
(Meaning)
A work team compos
functional specialities.
A team that uses technology to

to achive common goal. . . e
Teams from same department or functional area involved in effort

to improve work activities or tosolve probleqls.
A formal group of employees who operate withouta matnager and
are responsible for a complete work process or segment.

ed of individuals from various

link physically dispersed memberg

Heit-11
(afwma ) )
fafir=1 fersroan arer fawdi % afadl 9 faereRt o1 H &<l |

% w1 ford SwafTSs (W) e T B faet g HeE
i\ferer Y @ g T Sired & foe el 1 W foRaT ST €
F e § YR A = e e % A AR s
A F1oar 3 favm § & TE 4 |

FHAE 1 9 =i aqe S o geus % 1 FW € S
T T T A1 G o fold STeET wid @ |

Choose the correct answer from the options given below :

= fou e fasredi # & wd s 1 99 Fife

(1)  A-I,B-II,C-I, DIV
(3)  A-IV,B],CII, D-II

Match List - I with List - II.

List-1

(Theory/Approaches)
Management Grid

Theory of Entrepreneurial Supply
Theory of X vs Y

. ERG Theory

9N
Col

gelt-1

( fagra/summ )

A vad fire

B. Sufiars= emyfd fasid
C  XamY & fagid
D. %@ S fagid

1% T2 Get-11 31 Foeir i ;

(). _A-ILB-II, C-L DIV
()AL, B-IV, C1, DT

List-II
(Propounder)
Thomas Cochran
Robert R. Blake
Clay Alderfer
“Douglas McGregor

JER"

-1

( wfearees )
L . 9799 FeA
L T&e 3R, =
I ol TEeTw
IV. STed JgiR

Choose the correct answer from the options given below :

Hi9 feu 7o fasmedi § d Wel I 1 TG DT ;

(1) A-LB-LCIV, DI
(@) AL B, C-II, D-IV

(2) AL B C-1, D-IV
(4)  A-ILB-1V, C-111, D-I

24 017
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s
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i

i
80.
81.
X

Ly Viaes =
Match List - Twith List - 11
List-1 List-11
(Places where Conferences of United Nations (Country)
on Trade and Development held)
A UNCTAD-1 L. Delhi
B. UNCTAD-1I IL Geneva
C UNCTAD-1IV 1L Bangkok
D. UNCTAD-X IV. Narobi
gET-1 F | G- 11 1 frem i -
i1 gEt-11
(HgE T & T2 A foenTd weiedt weier ) ( S9T/ET )
A SFETR-1 A -
B. ¥®ae-I o SEE
C  SEIE-IV m S —
D. 3FIS-X V. A =
Choose the correct answer from the options given below : —
3 feu u faeredi ® | W I 1 94T DI :
(1)  A-LBI,CIV,D-II (@) AJLBLCIIL DIV
(3) AL B-I,CI DIV 4 A-IV,B-I,CIIL DI —

Which of the following is/are significance of foreign exchange ?
A Itisused to denote the rate at which different monetary units are exchanged.
B.  Itisa process through which international payments are liquidated by different countries.

(& It indicates the rate of sale and purchase of foreign currency. S
D. Itisa process through which goods are purchased or sold in a domestic country.

Choose the correct answer from the options given below :
(1) A,B,Donly 20 A,B,Conly (3) B,C Donly 4 A,CDonly

Tt g1 % waiw & Freifena ol w1 fowiishd i |

A T wER 36 ) Frefud ¥ for g ¥ forg o fafue wifees el 6 fatee e st e
B. %wm(m)%ﬁlﬁ.Wﬁmm&ﬁuﬁmﬁﬁﬁfm&sﬁmﬁ%ﬁw%]

C  zad faRel gz # foent o Ele o ¥ Frefim 2 @

D, e W & fores WA @ S (se) 3 H e w1 o g ¥

1 . forerei A 9 WA I H AT HIC :

(1) #a@A,B,D (2) FHAAA,B,C @) ®E@B,C,D (4) FE@A,C,D :

Which of the following is not a substantive documents used in foreign trade ?
(1)  Billof Landing  (2) Marinelnsurance (3) Billof Exchange (4) Certificate of Origin

ez Zamam 4 w3 g e frefared | 9§ S o6 @ 2
(1) TuRTA (2)  Afee @ @) fafmaw (4)  SEITH WHIIH

25 017
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83.

84,

85.

Match List = Twith List < 11

List-11

List-1
R Meaning) s ; jastic, secure of .
\ :-I\ll.,m\. ]“I ) I '(]‘h(:degret‘ to which someone 15 ¢ Jam, enthusias e oft(n&_‘
' adroversio . | insecure. i
rvous, depressed anc it sible, d
B Agreeableness 1 .l;:ie degree to which someone 18 reh;;blc, responsible, dependap,
o B i : : i ntoriented.
persistentand achieveme : tured, cooperative
@ Conscientiousness I  The degreetowhich someone Sl i i
trusting. ; . 1 Ikative, assertive
D.  Emotional stability IV. The degree to which somc?one_xs Sociable, talka vean
comfortable in relationship with others.
-1 % T -1 1 faems i
eI HEit-11
( eagfoTes o7 ) ( farar) , .
A afedEa L o i Ao e S i, e, I g,
e i ST =l B |
B. TSN (WEwE) I o e Y AR SR, ST, SRS, Fer A I,
FEEA S|
c fadsiem m o e A S ST e o HeA R A S favem

W B ¥ | :
V. o S e RIS oAt ST, STeie, eargeh STl o6 Het

el SR 3= % Wy ey H wes war el

Choose the correct answer from the options given below :

D.  HEATHS ©fae

= feu T famedi § | Wet SO 99 S
(1)  A-LBI,C-I,D-IV (2) . A-ILB-L,CIV, DI
(3)  A-IV,B-II, C-TI, D-I (@  A-ILBIV,CI, DI

“A critical analysis and assessment of strength and weakness, opportunities and threats in relation to internal
and external environmental factors affecting an entity” is called :

(1) GAP Analysis ; (20 SWOT Analysis

(3)  PERT Analysis (4)  Value chain Analysis

*ferredl <kl 1 FHIfe T S iR U SR TaieRoii HRep! & Tae T Heoret vel qer et el stasd qe Sas
F STeATEAHS faveranT i geaisa ! i el S ; .

(1) 79 (GAP) fawerm @ w@re (SWOT) faverm

(3) 92 (PERT) fagerom @ I SEer faemmo

Arrange the stages of evolution of Benchmarking from First Generation to Fifth Generation in proper order.

A Reverse Engineering B. Strategic Benchmarking - C. Process Benchmarking
D.  Global Benchmarking  E. Competitive Benchmarking,

famme & fady fag #1 Feafafad sEenet 1 yom 6iEh § vom O & wqfad oqFe § =arem
FIfAT L

A faadi AfqEifaest B. wriifae Fdv-fegiss ¢ ufww Priv-femisa

D, afvas fAdu-fagiea E  faest fFev-fegiea

Choose the correct answer from the options given below :

#i4 feu 7 famedi § d \e 3R o TG R ;
(1)  ACBDE 2) AECBD @) BACDE @ CB,AED

26 017
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ernal

017

which of the following are reasons for time preference for money ?
A Future uncertainties,

Preference for present consumption.

Value of money would be increased.

Reinvestment opportunities.

Risk

o N e

Choose the correct answer from the options given below :

(1) B CDonly (2 CD,Eonly (3) A BConly
# % fou v sifvms F Fro feafafega d A A A 87

A ufasr =t sffiema

B.  SdHM SUHFT ST wrefHema

C. 9 % g afta g

D.  ARE ST
E  wif@d
9 fau T famed ® 9 W@ S H 997 T :

(1) %aaB,C,D (2 %9@C,D,E @) FEAA,B,C

Match List - I with List - II.

List-1 List-1I

(Propounder of theory) (Theory/Approach)
A.  Micheal Porter L
B.  JoelDean I.  Value chain analysis
C.  Johnson and Scholes IM. Balanced score card
D.  David Morton IV. PEST analysis
-1 3 qre geit-11 1 foerr i -

T SR

( Fagia % wfure ) - (fagia/samm )
A fisie O L Wil s1e:ue
B. €M I A e fager
C W gE Wi IS e F1S
D. 2fae A V. T (PEST) farzeram

Choose the correct answer from the options given below :

1 fom T e @ WE ST 1 AT R ¢

(1) AL BI,CLDIV (2 A-ILBICIV,D-II

(3) A-II,B-L,CI,D-IV (4)  A-IV, B C-I, D-IT
27

@) A,BDEonly

4) A, B,D,E

The cycle of competitive degeneration
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90. '
57 Match List < Dawith List < 11 List-11
List-1 1 ation) it
Ixplanati 3 , a the
(Capital structure theories) I }::lluidvﬂ pehavioural l“"“f‘"‘['.:::n ::‘I];il'llrdlﬂ
o A Net Income approach ' irrelevanct capital struc S ryf the fir
that the castof capital and ValuE ol e TR
ot change with change It leverage
et I %1 costof debt will be equal to the reaj coq
B Net operating income approach I Marginatfes
nfeq‘lt"?’ tructure is relevant as it affect the cogy o L
- lppr ‘ ital 5 2
C Meodigilani and Miller approach I gapl:;tal and value of fum DO ooy,
D Traditional | V. Capital structure decision ofa corp =t
i raditional approach cost of capital and value of firm.
' g1 % T ge-11 1 fem Fif9g :
| -1 -1 ,
| ( sirTe W= gt ) ( ETETHRT T :
A fEd e s L e (ST oA W o feTt T = ]
e || S A & T e S A sy
mﬁmwmmm%mwﬁﬁﬂﬁmﬁ{ 9.
B. foa yHEAIHS 3E SUTH I Siq ST R AN Ardfae | T HER
2|
Cc T i fier swrmE . mmm%mwﬁwwﬁnwa
Tl T SR el € |
D.  9R9fE I9H V. e e i e HE waH o & g
FofiT AT SR TR A W 7 e €
Choose the correct answer from the options given below :
== feu TTu fasedl ¥ Wet SR 1 T9H i « oF
(1)  A-LBI,CII,D-IV @ AIV,BIILCI,DI
(3)  A-IIB-IV,C-I,D- (4 AJILBIV,C1DI

88. Behaviour Modeling is a type of training programme which the organisations may adopt to train its employees.

Which is NOT included in Behaviour Modeling ?
(1) Modeling (2)  Role-playing R
(3)  Social reinforcement (4)  Presenting questions, facts or problems to the learner |

SRR Ao e FHTEH 1 e TR € o oTa FHH=iEt i ufti w1 o fow wredi g siriwn e e
TFa1 £ | HFeR Wiaeuu § iR H§ | HIF | M T ¢ ?

(1)  wfaEqm @ YuE-freiE

(@) EmEIS g (4) Wl T A HHEAS 1 S qoh e H
89. Arrange these studies/approaches relating to managing men at work from earliest to latest.

A Human Relations Approach B.  Scientific Management Approach

C Behavioural Science Approach D.  Human Resource Development Approach

E. HRD ScoreCard Approach
FrTa FAfaEl % yevA 9 gatyd FrefarEa ST/ SUnTH 6 Sfean § TEad & STHH H SAaied St )

A HAA H44 397 B. A YEeE SUUH
¢ ZERiE fa9e 39 D.  HHEd GHHA foehE U™

E Ud AN E R FrE 390
Choose the correct answer from the options given below :
4 fu o fed] 6 A W I H A RAAC

(1) ACDEB 2 BACDE @® CABD,E @ D,ACBE
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Who was elected as the first General Secrelary of ndian National Trade Union Congress ?

90.
(N F:u rushlk‘h-.\m'l ra Banerjee (2) Kha ndubhai Desai
(3)  Gulzarilal Nanda (@) Vallabhbhai Patel
<Feer AV 2 AR HH 1 wom meefs Frefatad f A e FEit g
1) AR TS (2). THrE aH
- @) TR J& @) e Ted
- ' g1. Whichof ll'lt';‘ fo!lowing is/are dimensions of culture developed by Greet Hofstede and his colleagues ?
A Power distance B. Uncertainty avoidance (82 Masculinity D. Participative
xt Choose the correct answer from the options given below :
(1) A,B,Conly 2) B,C,Donly @ ACD only 4 ABCD
7iie BFRIS 3R T Heahiii i
| mugﬁ%ﬁnﬁﬁaaﬁﬁaﬁaﬁmﬁmﬁ&ﬂa%?
| A vfE-gl B aiffesmar ufEr c. e p. wawfrrs=
=8 9 feu e fowed # 9 Wt St o 99 Hife
R (1) FEAA,B,C () ¥ B,C,D @ #@ACD (49 ABCD
92.  Which of the following classifications have been made of enterprises (Industries) under the Micro, Small and
C1 Medium Enterprises Development (MSMED) Act?
i A N!.ICI‘D Enterprises B. Small Enterprises G Medium Enterprises
- D.  Tiny Enterprises E.  LargeEnterprises
: Choose the correct answer from the options given below :
5 (1) AB C Donly (2) A,BCEonly—> (3) BGCDEonly 4 AGCD Eonly
| ﬁ'ﬂﬁﬁﬁﬁﬁﬁm(EEI"Fﬁ)mﬂﬁﬂ—mmﬁﬁm'ﬁﬂ,ﬁﬁaﬂtwmm(MSMED)a?ﬁIﬁﬂ‘q'ﬁTauﬂ’{
ST T E 2 g0
A HEHZSEH B. Y SEH C.  HHEHIEH
p. =gawr (FMHwem E &8 (I&) W
3 few Tu el § 9 W@ ST 1 =9I HIMWC :

-
' (1) ¥a@ABCD ( FW@ABCE () FWBCDE () Fad@A,C,D,E

93, Arrange in sequence the process of hypothesis testing.

T | A Choose the level of significance
| B.  Setup null hypothesis and alternate hypothesis

Select appropriate test of statistics
f

(O
D.  Establish the decision rule ”
E.  Perform computationsand draw conclusio

Wqﬂmaﬁmﬁuﬁwﬁmﬁmaﬁﬁq:
Tl - T H 997 B =~

A
B T TRl S A fead Fenel 1 T R
C g wifEE! - THE = FT Q0
D, faofa-fram Tefad FT
E oftor e ad frend Gar e
' Choose the correct answer from the options given below :
i3 fe T e A R I B A
(1) CABDE 2 ADCGCEB @) BACDE @ AB,CD,E
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95.

96.

94,

Match List < Twith List < 11
List-1
(Name of Leader Entrepreneur)

List-11
(C ompmnc«,’orgnmqalum)
Avaya Global Conne ct

A Philip Knight L
B Niru Mehta L. Nike
O Jvoti Jeevan Naik 111 Ranbaxy Labs d
D MalvinderSingh IV.  ShriMahila Griha Udyog Lijat Papa
-1 % Y Get-11 7 e FHifa
-1 -1l
( ST / Fert T Ay ) ( uf=ar /|ed )
A Trfoy ame L e e H
B. A& Hea I. &6
C  SHifa Sited TEF m e e
D. Hafa< foe IV. sx”rtﬁﬂ’!’ﬁ?@“ fefosia T

Choose the correct answer from the options given below :

= feu TTu fowredi § | Oft I 1 997 S

(1)  A-LB-II,C-II, D-IV (2 AIBLCIV,DII

(3) A, B-I,C-I, DIV (4 A-IV,BILCI, DI
Which of the following are Financial Assets ?

A, Share B. Debenture

G Lease Obligations D.  Property plantand equipment

E. Borrowing from Financial Institution
Choose the correct answer from the options given below :

(1) A,B,D,Eonly (2) C,D,Eonly (3) A,B,Donly 4 A,B CEonly
fereiar wftgafaal f=ifehd § 9 HH-H1 &2 i

A W (IF) B. BN b e

D.  Hufg 943 3R SUHl (SUeRt) E.  fadia Seam | Sy

19 feu 7o fomredi d | WE IR A1 =4 IS :

(1) %I@ABDE (2 HadCDE () FHIAA,B,D (4) HEAA,B,CE

Arrange the steps in strategic planning in proper sequence. -
A.  Define Mission and set objectives
B. Define strategic issues

C.  Analyse existing strategies
D.  Develop new or revised strategies and dete:rmme cntlcal success factors

E. Prepare and implement plans
oo AT 3 EE B EfEd AR aqaﬁtaaa?rﬁm

A o oftai e qe e FAEiRd

B. IO qeal o qRHIfed HE 2,

c  foremm TowfdEr o faersor F L

D, ﬁamqﬁwwﬁmﬁmmawwmmmﬁmm
. AT aAw e adi 39 foRafE e

Choose the correct answer from the options given below :

3 fem T ferel A FE I A HIA

(1) ACBD,E (2 ABCDE 3 ACDEB (4 BACDE

30 iy
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which of the tollowing is/are factors to be piven weightage viz, ASTEM for evaluating the quality of improvement
by Kaizen ? S

A Attitude B Safety () roduchivity

D.  EnergySaving E Management

Choose the correct answer from the options given below :

(A B.Conly (3 A,B,C,Donly (3) B,C D,Eonly (4 ABCDE

S TR YR Y T 1 i e 3 fetu sveitd wew (ASTEM) H Foreifenn # B f o 1 A
\‘Iﬂfg)ﬁ?ﬂm%?

A gl B.  Hmn C.  ScrEehdl
p. S @i S=d E W
= R e faehedl # ¥ W S w1 g =i

() FF9A,B,C @ ¥Fa@ABCD (3) H9@BCDE (@) ABCDE

Arrange the following process of zero base budgeting in proper sequence.
Determination of Objective of Budgeting.

Development of Decision Units,

Development of Decision Packages.

Determination of the extent to which the zero base budgeting is to be introduced.
. Review and Ranking of decision

T IUIRG swied i Frfafaa sfean 1 wgfaa emwa § et Fise |

mg O s e

A A % 3gevd & fRuim

B Toia Sl =1 farra

c im0 =1 fasm

D. 38 g & fruio 5w ® g smfia ases e S e

E g =i ten iR sHasa

Choose the correct answer from the options given below:

9 fou T faemedl ¥ WEl ST 1 99 HITW :

() ABCD,E () ABDEC @) AD,BCE (¢ BADCE

Which of the following is correct statement about PERT and CPM technique ?

Both the techniques use similar technology and same purpose.

Both the techniques were developed dependently of each other during 2005.

PERT was developed and used in conjunction with planning and designing of the polaris submarine

system.
CPM was developed by the DuPon’t Company,
The use of PERT and CPM techniques is made in both planning and controlling of the project.

Choose the correct answer from the options given below :
(1) A,B,Conly (2) BD, E only (3)  'A,CEonly 4 A CD,Eonly

% o 9 2 ) O ww wfare 3 e F i T we e ©?

A P el H T e SR FHE YA T e € |

B i o0ps H ST wfafeE T GE R S w9 fewfd T ot

C i # s A et TgeEh gome 3 At PRI S SR % e e s v g o

D i 7 e A T A (e T
E ﬁgmamﬁﬁmﬁﬁmmmqﬁw#mﬁmaﬂtﬁmﬁﬁmmm

ﬁmmﬁwﬂ-ﬁﬁmwmwaﬂm:
) Fmwmapc (@ FE@BDE () FEACE @) IWACDE

A
B.
&
D.
E
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102.

100.  Arrange the steps of PESTanalysis in propet seque

101.

_ ‘m‘% e

neet 10:

A Understand a category’s relevant trends

B. Distill lively issues from the identified trends

C Understand trends interdependencies.

D Forecast the direction of issues.

1 Derive implications for the organisation. \
e (PEST) faveram & g 1wy s o P ahifald ;
A ARt F WISl SEET R EHEAl

B. fagifera Tl @ Ssfied qaal =1 aaferd il

C. T e i w e

D, HRI I fun = qeigAm He

E §med & fau ffeared e wen

Choose the correct answer from the options given below :

i fow e fawedl § | W@ ST H FFA HIWC
C,A,D,E B

(1) ACB,DE @ BADCE , (9

For a given set of pair data, the correlation and regression coefficients have been calculated as belng equailtofr;ﬁyz
and bxy respectively. Now, each of values in the x series is divided by 4. What effect does it have on each of their
coefficients ?

(1)  The three coefficients remain unchanged. _

(2)  There is no change in r. byx change to byx/4 and bxy changes to 4bxy.

(3)  Each of coefficient will be reduced by on fourth of its value.

(4)  There is no change in 7 but byx changes to 4byx and bxy changes to bxy /4.

Tt afsa v < W= & HHe A Fe-Hely TR FfcrTe o e TReher FA: 1, byx HAR bxy F TIH fFa ™
| o7 x S e WA 4 Y Fve R S ¥ @ 5 Y e o T G e € 2

(1) i e sTafafia w §) @ 0

@ 3 S ufead T AR, by byx/4 H oRefia & ST T S bxy 4bxy F wftafda 2w

(3) W VI H W T T T e e A | |

@ rﬁﬂﬁ?ﬂﬁﬁ?ﬁﬂﬁ@ﬂ%ﬁﬁbyx4byxﬁﬁﬁaﬁ3m%3ﬁtbxybry/tlﬁqﬁﬁlﬁﬂﬁlm%l

Match List ~ I with List-II.

4 ED,BAC

List-1 List-1II
A, Securities premium L Current liabilities
B. Patent IL Current Assets |
C.  Shorttermloanand advances II.  Intangible Assets,
D.  Trade payble IV.  Reserveand surplus
eit-1 % T gelt-11 1 e i ; '
elt-1 HE-I1
A wfayfd difeem L e N
B. W= I = it
C  Aeqeifers 0 R $fim M 30y ufeafy
D. &ANfEed V.  STfe ofi stferem
Choose the correct answer from the options given below :
14 fau T faeredl § & W SR F =TI HIC :
(1) AL BILCAIL D-IV (2) ALV, B-IL C-IL D-X
(3) AL BV, CIL DI 4)  ALBLCIV, DI
32 017
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103.

104,

match List = Iwith List - 11,
List-1
List - 11

{Nlegoh'ation Result) (Meaning)
A, Win-lose L Both Parties get what they want, the parties believe in mutual
ST gain.
B.  Lose-win I Both parties lose or do-not get what they
want and reflectan attitude to take it or leave it.
c Lose-Lose . The negotiating parties think that ‘winning is every thing’
L. or winning is the only thing.
D Ll IV.  One Party achieves most and other party loses or gain very
@_[ %Wﬁ%ﬂ‘—]] Wﬁaﬁﬁﬁﬂq little.
T -1
( TERTHOT ( STer=ita ) uftom ) ( atfrur) -
A SE-ER L 2 R P13 51 S ST S A €, T AR
o ¥ forvem 3 € b
B, ®R-Sd I 2 R 1 e e € oik 5% ol = ¥ ergen =i
firerdt ¥ 3T 3 28 & 7 B 3 el sfgfa FeRid F3d €
C EER M S e TaER 2 aues $ 5 5ia @ gegs € R S &
THAE TEA ¢ |
D. Sfa-sfa V. U T&iehTt 1 iferehaw WIa el & iR g8Y et A1 Al 81 Wil ¢ 41 39
IS TN TR eI ¢ |
Choose the correct answer from the options given below :
T fou o fosedl § & WE ST 1 =T FifY
(1)  A-IL,B-IV,C-I, DI @) AL BIO,CI, DIV
(3)  A-LB-ILC-II, DIV (4) A B-I,CIV,D-I
Who among the following proposed Structuralist theory of Inflation ?
(1) Mpyrdal and Streeten . (2) Keynes
(3)  Miton Friedman (4)  FritzMachlup
TR ¥ SREEe fasia 1wt e § § e e ?
(1) fada SR e @ I
@) e v @) A Heer
The factors that cause stress are called stressors. Which among the following are Organisational Stressors ?
B. Roledemands C.  Interpersonal demands

A Task demands

D.  Type A personality Structure of
Choose the correct answer from the options givenbelow :
(1) ABDEonly () ABCEoly (() BDECony (4 BCD,Eocnly

3 F  fael 39 F € Yfererere Feer € | iR § | Sreore wiees e 9 §2

E.  Structure of the organisation

A=A . ferew wi C st T
D.  2ry ¢ AR E HSA H FE
3 e 1 el 6 A A I I

(1) ¥adABDE (@ FAABCE () %9 B,D,E,C (4 FIW@B,C,D,E

X
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106.

107.

108.

re 7 1
: Mintzberg 10

for Illj'_'ltll'nlliflll(ll{ hang

Who has giveny sugpoested the 7-5 [ramewor k (a1 (4)
(n MC Kinsey (2) Peter Drucker () Dale Yoder
grafye uiteds & fean 7-ug wHaeh = gae fera femn ? et
i e et (4)
o R (@ WEER @
Match List - I with List - I1.
List-1 List-11
(Test) (Meaning) . 4
A Chi-Square Test L Test is applicable when the objective 1; tg cc;rirrlzare samples frop,
two population and samples are matche P_ e
B.  Sign Test L Test is used for comparing fe pOpUla'h'onfi' trE;‘bu:"icwmf o
assumptions about the population probablhty : fon
(@ Krushal-Wallis H Test . Used to compare the mean of two samples CraWR IO twg
independent population
D. Mann-Whitney U Test IV. Testof gaodness—of—ﬁt
HeEil-1 % Y Gei-11 1 e Sife :
-1 -1
( ataror) ( sty )
A HE-TERR O L wuﬁmwmﬁ’ﬂm@m%ﬁmamﬁmg'm
ﬁwmﬁm%@?uﬁﬁmﬁaﬁwﬁmm%l
B. fa= ufigm L = hew <1 gufed § qu F o S o § e S
i Sz 3 AR g qEHI STiEd el el < |
C.  HI dfc™ TF TE I = gEm < i Sate | Seyfed <1 ufaesi & A H ger ®
feru fapa stmar €
D. #H-fget  wEm V. T 3 fthe TiiEmT (ST i =TS THE)
Choose the correct answer from the options given below :
= feu U faeedl § 9§ Wl IW A W AN
(1)  A-IV,B-LCII, DI @)  AIV,BJ,CI, DI
(3) A-V,BIC1D-I (4)  A-I,BIV,CII, DI
Methods of Demand forecasting include : )
A Consumer Survey Method B.  Marketéxperiments
(&3 Econometric method D. Generalopinion

B Fluctuations less market
Choose the correct answer from the options givenbelow:
() A,BandConly (2) AD andEonly (3) C, DandEonly (4) B,CandDonly

mﬂqﬁﬁqﬁaﬁﬁfﬂﬁ?ﬂﬁqﬂ%

A 3udE Faeo fafy B. TSR

c  zdfafa fafy D.  HH A

E Zan-=g@ fed e

g fau o famedi § A WE ST F T HIOO :

(1) Fa@AB#ARC () F@AADIRE () FECDIME @) Fw@B,CRD
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. we the Institutions . . . :
sk for entreprencurship development with the year of establishment from earlier to latest.

109

A SmallIndustries Development Organisation (SIDO)

p.  World Association of Small and Medium Enterprises (WASME)
¢ Entrepreneurship Development Institute of India (EDII)

p.  National Small Scale Industries Corporation (NSIC)

E. Indian Council of Small Industries (ICSI)

A S Pt Seerel o <o o o 5 ST SR & T 5 A ST i
A Y SEN R SR (SIDO)

p. fova &Y U 9EAH o9 €Y (WASME)

5 C i SEfi fe S Epm

D. TS oY SErT T (NSIC)

E MR o 9 aieg (1Cs])

Choose the correct answer from the options given below :

. 9 few T faeredl ® | W& SR w1 9EH B :

(1) ACBD,E @ ADEBC @) CDABE (9 BACDE

rom

2 no

110. Which among the following is NOT needed in Communication ?
T F (1)  Toestablish and disseminate the goals of an enterprise
(2)  Todevelop plans for their achievement

@) To transfer information overload

(4)  Tocontrol performance

i 3 e 3 4 R ST T A €2

) foret o o wed] o FAUiE e FEE HT

@) s Suate 3 fer A e

(@) G SR SHARE T s

(1)  Fromea-fraAoT =TT

111, Which type of Intrapreneur is/ are task-oriented and dedicated to their work ?

(2)  Creator Intrapreneur

(1)  Employee Intrapreneur

(3)  Doers Intrapreneur (4) Implementers Intrapreneur

5 et HETE T 37O o Wi wwitd g/ g ¥/ 2

I e § A fod TR F1/
(1) war - e (@ S -
lI G (@) i - SeH
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5
112. Which of the following is /are correct about frec I'rade?
A Free Trade attracts foreign capital.
B. Free Trade removes chances of monopolistic tendencies. |
C  Free Trade provides maximum protection to the interest of consumers.
D. Free Trade leads to unfair distribution of wealth.
Choose the correct answer from the options given below :
Af B! D only
(1)  A,B,Conly @) A,CDonly @ BCDonly ®)
T AR & ey # FF 9/8 |l §/€?
A W =R e i 1 stfta F e
B. wwmuaﬁuqﬁlﬁ%muﬁmwm%\
C wmmﬁw&ﬁ%%ﬁmﬁmnﬁwwmﬁl
D. T SIR 3 el T W] 1 S o e ¥
9 o v fawedl § | 9E ST H 99T Hig
(1) Fa@A,B,C ) FaA,CD @) F@B,CD @ HFEA,BD
113. Arrange the steps in Recruitment and Selection process from startto end :
A.  Employment planning and forecasting.
B. Applicants complete application forms.
C.  Building a pool of candidates
D.  Using selection tools
B Candidates become employees
155 Interviewing candidates to make final choice
ot 31 = TR & W ) SR Y 37T % FH H Aaredd i :
A e s SR gEiE |
B.  aTaeH eed B I 0 Fd T
c.  aafefdi o e fAfHd FE
D.  =Fd SUERY &l FA A |
E. 3rwell ol HHer o |
F. mmmm%mmﬁmw—mm.
Choose the correct answer from the options given below :
3 feu e fasredi § 9 WE ST I T HIWT :
1 ABCDEF (@ ACBDFE (3 ABDECF @@ ACGCEBDE
114. Who has firstly used the word “Terms of Trade’?
(1) AdamSmith () AlfredMarshall (3) = AC.Pigou (@)  Frank William Taussing
‘i Al 2T (TR A Y)W A FeAner e fo e ?
(1) ugAfEA (2) 3TekE AR (3) W i (@) e fafemm e
36 017
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which of the following are correct formuyt
115.

2 0f Broak Lven Point (B117) ?

s Fixcd cost
A BEP. = —————="~
pv Ratio

-p Fixed cost
B BEP, = :
| 1 — Yariable cost

sale

BEP. — Shange in profit
s . . { __‘__‘_.——\___'___
= change in sales

Fixed cost
DB EP = : - :
Contribution per unit

E. B.EP. = Actualsale — Margin of safety

Choose the correct answer from the options given below :
4
() ABCDonly (2 ACDEonly (3) ABDEony (@

T &R fag (B.E.P.) % Hel g3 Fifra H 4 S 4 82

QL)

B.  Hged &R fag (BEP)=~ T =

10

v H qiEd
c  Hger W g BEP)= mom i orad

EEGASING]
p. Hier w5 (BEP)= s e

7 p I
E. #AqeA = fag (B.E.P.)sarmﬁif%aﬁ—maﬂ w1
79 fru o feit 4 e 3

- FAGACDE  (3) FAABDE @)

37

B,C, Eonly

%S B,C, E

A"k '.llli\‘\‘

T
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116.

117.

118.

119.

120.

7:_—-_“—‘-*11!I!."m

Match List = I with List - I1. S 121.
List-1 :("I“ i) !
(Action) usie i .y that wi
A Complying with safety, I Doing ilIWlh",nrl.lril:;_ﬁ:r?p&
Health and security regulations, harm the “rf’dh_-'r
B. Making decisions without regard IL. Customer centric
for personal gain : > isational citizen
G Conveying t:;.le claims in products . Becominga dependable organ
advertisement et
D.  Providing products and services of IV.  Being good tocustom
the highest quality
-1 & 1 GeR-11 1 firet Hifeg :
-1 1
(=) (T=3) .
: . Forad Hired &1 &fd g
A TE, T ok e e aae L IS Sigred i el )
B.  oFfames Ay w1 A W@ SR o L SRR
C Sl % o # < i HyE oL e s (o) A T
D. oA U AR S R qEd WEH FE IV, e o Wi 31 el
Choose the correct answer from the options given below : :
9 feu e fashedi | @ WE SW H =HA FIIC :
(1) AL, B-IV,C-II, DI (2) A-LB-ICII,D-IV
(3)  A-ILB-ILCIV,D-II 4) A-IV,BIICII D-I
Which of the following Financial Institutions does not provides/ belongs to short term agricultural credit?
(1)  Primary Agricultural Credit Societies _ 12
(2)  Central Co-operative Bank i
(3) State Co-operative Bank
(4)  Central Co-operative Land Mortgage Bank )
foretfefiad § @ S o o G STerHTe FHi SUR T FeH v Hafhd T €2
1)  wefe Fiu SuR |fbfa 1
(2) A TEER 96 -
@) T HewAl dF

@) H=EE T i S S _
If on average 2 customers arrived at shopping mall per minute. What s probability that in a given minute, exactly
3 customers will arrive ? L

e—2= 1353
21z st el o€ wf fiee i 2 e o €1 T 9e7 §HE (fre) § 3 umeeh & o it witean feaet arh 2

e 2=1353
(1 .902 (2) .1353 (3),. .2076 4) .1804
Market premium is 7.5 percent, market rate of returns is 15.6, beta is 1.33. What s the value of equity share ?
Ife SR WEET 7.5 Fioed €, SoR Fiwe & 15,6 €, e 133 %1 @ 37w (sfret 3eR) =1 get foaen € 2

1 156 - (2 81 () 2884 @ 237

“Dividing a market into distinct groups of buyers on the basis of needs, characteristics or behaviour who might

require separate products or Marketing Mixes” is called :

(1)  MarketSegment (2)  MarketSegmentation

(3)  Marketing Targetting ) ‘ Market Positioning

v, TN a1 SAER oh STET T el o e W st oh fafra fefen s & Fored goreh S

1 faor Tfimg F STEvada 8 Gehdt ¢, 9 HEI WM :

(1) AELEE 2) SR EE
@) faum @ @) SR srEfef
38 017




f

‘ 121.

122,

123.

124,

Match List - T with List - II.

List-1
(Parity) List-II
A Interest Rate Parity (Meaning) :
h L A forward exchange rate should be what thetfolreijgn exchange
Purchasing pow : market participants expect the future spot rate to be. )
s RSty IL In the pgrfect cl:::pital mF;rket, real rates will be the same in all
€ Forward rates ang futur, countries.
< Ol The exchange rate between two currencies '
spot rate parity of two countries equal the ratio between the price of
D. International Fis} 00ds in these countries.
Isher effect V. %he relationship between interest rates and exchange rates of two
Feit-1 % F G117 fegeqy A countries.
qﬁl_l x
(9Har) (Ew?il-ll
A S S EHAT (#fugr ) ) :
L a1irm fafra <x fael fafem s F faafiEl g erifam e
T X h Hd e Al |

B. 4 WIfsa goay ' 2 N ’ -
: IL - 9ol GSff aTeiR H arafae &t A o | T g9 g |
C AAEsae RS SE3er. e aa};ﬁﬁaﬁéﬁ%ﬂwﬁﬁmmmé‘sﬁﬁw%{a%qw

© STIUIA S HHH B | 0
D. SR R gy IV. 2 < % Heg o o) 3R fafme o o ey
Choose the correct answer from the options given below :
ﬁﬁmwﬁa’_@’ﬁﬁﬁﬂﬂm?ﬂwmz
(1) A-IV,B-II, CI, D-I 2)  A-IV, B, C-IL, DI
@ ALBILCII DIV (4)  AILBIV,CI D
Which discipline has NOT contributed to the field of Organisational Behaviour ?
(1)  Psychology (2)  Sociology (3)  Economics (4)  Political Science
HITSTIHF SAER < & | F=iifsha & 3 fopw foren 3 2irer =8 faan 22
(1) T )  HHSEE @) e (@) T faeme

EBIT= ¥ 11,20,000, profit before tax= ¥ 3,20,000, Fixed cost= % 7,00,000, what is the value of combined

leverage ?
EBIT = ¥ 11,20,000, 3% % & T4 = ¥ 3,20,000 741 7 e = X 7,00,000 &, T FEHA A9 (combined leverage) 31

M faaan grm ?

1) 569 @ 35

Arrange the following steps involved in the valuation of merger.
Identify growth, profitability, assumption and estimate cash flow and terminal value.

(3 1.625 4 1.569

A
B. Fstimate the cost of capital and compute present value of cash flows. E
(€ Evaluate the impact of the merger on EPS and price earning ratio.
D.  Decide if the acquisition should be financed through cash or exchange of shares.
E-. Decide if the acquisition is attractive on the basis of presentvalue.
ﬁﬁa%q@mﬁwﬁaﬁmﬁﬁﬁﬁm@ﬁw@mm; "
A fg, vEdT, AT e SIS S T S e H it A
B %ﬁ}ﬁwmmmamﬁm%aﬁmﬂﬁﬁmﬁml
C ?ﬁ@aﬂtwwﬁaﬂqﬁ“ﬁ?ﬁ'ﬁﬁq$“WWWml

5 sferET TR Yed o STHR T STt Sl 5 |

Choose the correct answer from t[-le;z;m?" an
: oY I I Vo Pk
fﬁiﬂgf?ﬁﬁﬁ“@) c.D,ABE @) BAEDC 4 ABED,C
39 Ol'?x




125.

126.

127.

128.

129.

130.

e SRR

¢ ot EEntre surship ?
Who has propounded the ‘Theory of Opportunitices and I”"twmmn of II'“:["WE;;CU Repbert i .
(1)  PeterF. Drucker  (2)  Frank W.Young (3)  Frank H. K.I'Ilﬂ it
e 3 * v N T A Ryt a1 e freferfa i A fHE _

@) YR UE, (4)
of data increases by 12 7

(1) e U gE (2 W ey, 4
Which one of the following is correct if each of the value of the set
() Increase the mean by 12,

(2)  Increase the standard deviation by 12,

(3)  Increase the coefficient of variation by 12.

(4)  Nochange in the value of coefficient of variation.

afz 29 ¥ Yo W= & WH 12 981 g s §, df Freifed B 9 P G FE 8 ?

(1) W H 12 % 9fg @ s

@ = fa=em ® 12 % gfg & s

(@) WO TUn 12 T g & S

(4) WO TUI 3 A i gfedd Tel ern !

In which year India became the member of the World Trade Organisation (W.T.O.)?

(4)  February 1996

(1) January 1995 (2) March 1990 @) April 1994
IR Ve AR e (S5, 21,37, ) 1 Haed R o o ?

(1) EE 1995 2 = 1990 @) I 1994 (4) HE199%

Arrange the Hierarchy of Needs Provided by Maslow in reverse order (from later to earlier).

A.  Esteem Needs B. Security or Safety Needs

C.  Physiological Needs D.  Need for self-actualisation

E. Affiliation or Acceptance

et ERT e ST TR ) SR S (ifen & wws) H et Hi

A ST T SEREHA B, AN e Haitl st C. R STEvIFA
D. oeAfafs ¥ fom savakar  E Segal o Wiehrd

Choose the correct answer from the options given below :

9 fau 7u foenedl & 9 W&l IO R = I : ||

(1) D,AEBC @ ACBD,E @) D,ECBA @ A,B,CD,E

A company paid a dividend of ¥ 3.70 in the previous year. The dividends in the future are expected to grow at the

rate of 8%. What is the value of share price today if market capitalises dividend at

12 percent ?

fapft St o firer d 23,70 o SIS T ST feRa | ifers | Siv S 8% St S W W o1 STHH fehan | AR
IR ot @i 12 9T S R R A S % () R G Hi A R Em 2

(1) 100 @ 20 (3). . ¥ 1000 (4 T 400
Which of the following Financial Institutions receives short term and medium term credit from the NABARD ?
A.  Reserve Bank of India B. . Co-operative Banks

C.  Land Development Banks D.  Regional Rural Banks

Choose the correct answer from the options given below :
(1) A,B,Conly (2) B,C,Donly (3) A,B,Donly @ A,CDonly

frefefEa 1 4 FiF A fada T e § AT T Ao S e S § 2
A frd  wifw efean (YR fid §) B | HeER) S

c ‘mﬁmaﬁ D, & i S
1 fen T el @ AE I A RO ¢
(1) #FAAA,B,C () %dB,C,D () A B,D @) ¥EEA,CD
’ ’ Iq
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131.

132

133.

134.

Arrange the following steps invol A
] 4 ved in the process F 3 : a thri i
StcrieBom Salietio ln e 1 the process of planning, as provided by Weihrich and Koontz, in proper
A Setting objectives ; - y
C Idenh?vini;(\lll&: Tml' B. Being aware or the opportunity
> 3 i oy wves A = . E .
Ghoosinganaltemative D. Considering planning premises

E.
it iR TS BRI WEH SRS w5 wfwa e fsitEg St @ ¥ Fifim 7 & 7 il
=Efeyd HIfe o |

} a&aﬁufﬁam B, 379ER ¥ Wid STE el

c oo 9 wmEE e D.  aErern e @ i

E oo =1 w9 s

Choose the correct answer from the options given below :

14 fe TTu foshedl § ¥ W I S =T Fie

1) AGBBDE (2) B,AD,GE @) ABCDE @ BDAEC
The three most common methods of measuring brand equity are :

A. C‘(Jst aPproacl1 B. Simplifying product ha ndling C Market approach
D.  Financial approach E.* Business approach

Choose the correct answer from the options given below :
() A,CandDonly (2) A,BandConly (3) BCandDonly (4 CDandE only

S 3fEEet & AIUH & TSl qm fafet i § 9 SE e ?

A P ST B. S-S TSR C ISR
D. fa<i= 39rm E  =Ha9™ S9FH
9 feu v faeedi § 9 WE W 1 FIH S :

(1) Fa@A,CIRD () FawABIRC () FA@B,CIWD (@) %ae C, D #RE

Which among the following in NOT a condition of perfect competition?
(1)  There are large number of firms producing and selling a product.
(2)  Both the sellers and buyers have perfect information about the prevailing price in the market.

(3)  Entry into and exit from the industry isfree for the firms. ;
(4)  The product of all firms are not homogeneous. .

foreferfian & @ @ of st 1w T @2

(1) o S SeS ol Ie 31 okl B E

@) ferdear 33 e < T AR A W 7 o He H g e 2l ¥
() e e v g & Frel e & fere e an €

(4) Tl SErE S S FHE (FET) T &

According to Greet Hofstede, Sacieties differ in values, Hence, Managing human resource in Inter-country situations

become still more complex. Among the following,(which factors cause differences in value ? \
A Power Distance B. Legal factors C.  Individualism ~
D.  Masculinity E.  Uncertainty avoidance

Choose the correct answer from the options given below : ;
(1) A, C, D, E Onl}’ (2) A.r B; Dr E Gnly (3) Ba Cl D; E on-ly (4) A, B, C, D Only

Tz ZFAE % SR, S-S T | ST g B €1 3T ey feufr § e e vy s
ot Afe goe & AT | mmﬁ@aimﬁﬁ@mmmm (ge) B i Ffd B & 2

A wfmE G B. fafee c fsar
D. Em E . affyedd i@
ﬁéﬁqmﬁmﬁﬁuﬂmaﬂwaﬂm:

(1) Fa@A,C,D,E () FAAA,B,D,E

(3) #a@B,C,D,E (4) FEAA,B,C,D
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VARG LYY A, o T

7
{ nh-epreneurs {
group ot € (1) RobertR. Blake

s Toacl Yon
135. Who has conducted the “Thematic Appreciation Test (TAT)
() FrangW.Young (2) MarkCasson (&)

mﬁﬁ%wnﬁeﬂ'mmmﬂﬁw'(ﬁqmﬁ o @
1) e dm () wEHEE @ T

\ine the duties of comP:

) acteristics of
any’s positions and charé PeOple

136. The procedure through which one detern

hire for company is called ? Job Analysis @) Job description
(1)  Jobspecification (2) Job evaluation (3) 2 ; R | EafELIURED i
aﬁmﬁaﬁmwﬁﬁﬁaﬁﬁmﬁﬁfmﬁ;ﬁ%ﬁ%mmmaﬁ% i =
& Shewml ¢ / TaaT

& @) &

1 wHffET @ wEEEE 0 el fereere!

137. Green Marketing does NOT include :
(1)  Mobile retailing
(3)  Increasing role of technology
%fiw faqum (3 Arkfe) & wifie TE e
1) e ey () G g
(@) SR e s @ TR

y intangible and does not result in ownership of

(2) Omnichannel retailing
4) Retail consolidation

138. An act that one entity performs for another that is essentiall
anything is called .
(1) Communicating (2) Service
o Fea S et et g fenelt o1 3 fere Fifeg o Tt
oftor 7@ T &, 39 el SR : ‘

(3) Distribution (4)  Customer relationship

% < ;S o & e S foReft % o Wt

(1) AN HE @ @ ¥ @) e HaY
139. Arrange the marketing logistics decisions in proper sequence beginning from start to end.

A.  Warehousing - B. Inventory

C.  Order processing D.  Transportation

e T G d oo ST | ST % wfed STgRH ¥ Sefeed i -
A ISR B. | e

g\ 3T

EReI
qqe
=l g

(=
H11

-

147

C  HACAWEREN D. g (IEE)
Choose the correct answer from the options given below :
1) fir T forsed B QW ST B T R :
@) G ABD @ ABCD (@) B,CD,A @ DACSH
140. Which a pproach says that organisations are different, face different situations and require different ways ¢
managing ? )
(1)  Scientific approach (2)  Contingency approach
(3)  Quantitative approach (4)  Behavioral approach
Frerferfiad 3 @ fom ST o1 ST © fob WS T 2 €, Pt et < e e e s e 6 J
i1 Tgfa 1 AR Bl ¢ 2
(1) S 3 @) sTHfEER (W) o
(3)  HEARHE I @) SRR Sy
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Read the following passage carefully; and

Across India, a prof. i
patterns in the Cnt;l;:'l!i\'n.:lr‘.:ut::ﬂ]l:\:-];,‘:::::I;I“d?:‘fl" 15 ||!u|v|'w.w woven into the h\h!-ir ('Ifll_‘\.l'l‘l')fliily life. f]"h('.‘cnnsumptinn
behaviour. This transformation rcl’l:n*h};; ;ll_"‘ ”l“r t!l‘wvn|hy the winds ol lll.‘!ﬂ}‘,ll}n ]!h-!ﬂy'lv*a and evolving consumer
and diverse population. The Indian I.;u‘.l‘“n y "“‘ll.nmu' I;r(.!wll.'. bul ali.lau the aspirations and preferences qfadynarmc
schedules and fast-paced lives have pi ‘l -"l.l_l.nor lamllscape is wnl'nf:ssmg a surge in demand I'ulr convenience. Busy
Food delivery, ride-sharing apps, a 1,]\"Lnl rise to.an increased c.onf‘u.lence on services “‘Ii'llt]”l’l' time-saving solutions.
people manage their daiiy' S ti’nr :1} lome services are becoming p*ntegral to Fhe urbqn lifestyle, {r;lnﬁfcarmnrw;;me.way
Companies and online platforms ."—\b.- SOCIal. media .plays a significant role in shang perceptions ar!d aspqut:.olns.
The desire for unique experienc ar ladll'lﬂuencuw.@zr fashion choices, choice of travel deshnatm_ns, and recreational achxluhc.:s_
to fashion and entertainment ?valal'l f'tcurated lifestyle is driving consumption sectors ranging from tra\fel and ht)sp:ta!ﬂy
mvestors a sea of o TR = Wlllds of change are reshaping consumer spending patterns and llfestyles., offering
_ pportunities. This transformation, influenced by many factors, not only reflects the dynamism of the

l'I'I..‘l['l\l.?: i:.ut also opens doors for investments in consum ption related sectors.

bio ade::rl:at;lz; I:I:'lo[;i::?;r “1‘:?"-‘9 there is a noticeable shift towards online purchases driven by convenience and a
retnlbosim Mopave: 0. e digital era presents opportunities for investors eyeing companies catering to the online
Sl . + there is a growing trend of higher expenditure on experiences. Consumers are allocating a
5131111.‘1ca.nt jsetiesls of their budgets to travel and dining and entertainment. This offers investment avenues in the
hospitality, tourism, and entertainment industries, as businesses adapt to meet the demand for memorable experiences.

eATeTE Teren <l Wrer =t geish ufed Si ue 4. 141 9145 % o7 0 :

I T A T () SR 2 < 3 g e e ¥ 2 A de 39 (@)
e g Sio Siet 3 PR Sefghad S ATt SaviET SRR 1 it ¥ e S o F AR TR @ E |
e 7 S S TS ) e e s fafmmt wwe 5 e SR s (wefEdst) F
et T ¥ | SR S SO URGwd § GReTSr Wi & S g 8 W | R - S (FHF |RT)
S cafi ST 3 o I S 3 9 e e ae & o W ae S A W € e
e, AR H Hie-arE Y STErTEH (AT ) gﬁmmmﬁaﬁﬂq,aﬂtﬁﬁmﬁﬁmgﬁﬁaﬁmﬁ
H}ﬂ’r@wmﬁaﬂ‘ﬁ?ﬁﬁﬁwﬂmﬁ'm@%aﬂtﬁﬁﬁhﬁméﬁﬁﬁqﬁﬁm%ﬁuﬁﬁmﬂt‘a‘r@
3| sa S STl T ey YeT e A Gl difed F e i € | Sl 3R SHemE e o HYE H
e, AT TqeTe! o T a1 HASih T A & W fafime sy 3R sTREarget Sies el w3991 6
e AT, ST B S S ST AR e 3 4l @ (ST i etk o T T YiEd 1 T | T B
5 T S S 1 e TaE TS i T e v i age () ST A 8 | g O HH
@gmﬁangﬁaﬂaqmmﬁnﬁsﬁwam@qﬁﬁmm%mmwmﬁwmaaa‘fﬁﬁ—;m
%1 g1 off goa 7| ' i

é—mﬁﬂqﬁﬁ%wgﬁmaﬂtﬁma@—ﬁwmﬁm(ﬁﬁﬁ)wﬁaﬁﬁ@t"ﬁ@ﬁwﬁm
TREd g T mﬁmgnﬁﬁamﬁ@ﬂﬁaﬁ?wmﬁwaﬁmw@mﬁ%mwﬁﬁmmﬁm
(Fafai B 1) s o & ¢ | S ST, AT R S o e S EH e T ¢ | ST ST A
m@@mw,wﬁmmﬁm(m)maﬁwﬁ% T TETEEY e Yehl, Wied SR HARsH
i 3 ey 3 S T B ¥ i SR () TR S A A ¥ SR € €

141. What trend is observed in consumer expenditure in India ?

(1)  Decreasein expenditure on experiences
(2)  Shifttowards higher expenditure on experiences like travel, dining and entertainments

(3) Increaseon expenditure on material possessions
(4)  Nochangein consumer expenditure patterns

wﬁmﬁmmﬁﬁmﬁﬁﬁﬁmﬁﬁﬁrmﬁ@%?

(1) wARyfeE w7 T .
2 m,mmﬁnﬂm(mm)ﬁﬁaﬁaﬁﬂmaf%mmaﬁﬁmﬁ afrEiEFT

)
(3) mrﬁﬁaﬁaﬁmmﬁqu .
(4) e = Wi H g afE

answer question no. 141 to 145,
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expenditure of ex

g trend of higher

to benefit from the I‘r"wm

142.  Which industries are likely "
ar :
Healthe d entertalmnent

< X

TR I i T T
e

£

periences ?

m Manufacturing and .mru‘ulhm (2) rourism an
(3)  Information technology @) ”mpltamy' :gj‘\'lﬂ =1 T 2 1 FrEm )
syl W aiferen = RO F a6 e
E () fafmio sk Hf @) iz AR
! @) g e @ SRAEES
i in India ?
143. Whatis driving the profound transformation in consumer spending pRICRS
(1)  Evolving lifestyles and consumer behaviour
(2)  Decrease in population
3) Increase in government regu lations
(4)  Decrease in economic growth :
e i g =T 36 ey Frifea 8 & R S T 35 < T e (FIRT) LACE
1) fiw Sefamtad 2 arel Sftae fel Y AR
@ e g
@) e fatad | gfe
(@) i Fafe ¥ w
144. What desire is driving consumption sectors in India ?

(1)  Desire for unique experiences and a curated hfestyle =
(2)  Desire for traditional lifestyle A
(3)  Desire for modern technology 3
(4)  Desire for simplicity )
Freifiea 3 @ Frm 551 e § ST @lﬂﬁﬁa'@rm%?
(1) fafere sy o SR e 1 5=
(2) TG SaTded 3
(3) YT FENTTRT Al 35T
(4) Tyl Sfa g

145. How is social media influencing consumer behaviourin Ii"ndia ?
(1) By promoting traditional values () By-shapmg perceptio
(3) By discouraging online shopping @) Bya dvocating mmmzshsﬁnd aspirations
mqmﬁmmmtﬂmlﬁ%ﬂlﬁ%ﬁumﬁmﬁﬁ%o .
(1) 99 ged & HasA g | ) @me@ﬁ

h R Y
(3) A wifen ) wereafed we ) (4) = = (fgef e AR
U ¥ TehTerd |
X 44 ¥
]
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Read the following passage carefully; and answer question no. 146 to 150,

In the business landscape, wher a : ; : i
¢ drives the busi andscape, where operations and functions often follow a similar blueprint, the true differentiator
IV ES > SINess rarde i . . . i
|h.1t trl S Ilmish towards success is its unique work culture. An organization’s culture is shaped by various
“Lors ¢ S > e srshi ‘kforce & . - . o . ’
factors such as the leadership, workforce, and the external influences. These factors significantly impact the company’s

~cess, and its over srformanc ithiakh i i LR ; ideri
Succe _ ts ov 0:_‘1![ per formance. With job insecurities and uncertainties on the rise, workplaces are considering to
reshape their organisational cultures,

According toa study conducted by Deloitte, 94% of executives and 88% of employees acknowledge the critical role
of L\I"L",t\l‘ilsf\tlt‘l‘lﬂl culture in determining acompany’s success. Significantly, 76% of surveyed employees highlighted
tllw tﬁ_f‘oct influence of a well-defined business strategy in cultivating a positive culture. This global phenomenon also
significantly influences India’s fast-moving startup ecosystem, where numerous tasks must be accomplished with
Imntv‘e-:i time and resources. It becomes imperative for these organisations to restructure their work culture by instilling
qualities such as agility, an innovative-focused mindset, and resilience amongst its employees.

~ Moreover, a focus area that has gained significant prominence in India’s work culture is employee mental well-
being. Post pandemic, many organizations were compelled to reassess their priorities, including those in India, to shift
towards prioritizing employee happiness and overall well-being. This change in the leadership perspective affected
corporate environments to focus on their work culture, as employees now prioritize a balanced work-life equation.

Today, many job seekers choose a secure, inclusive, and flexible work environment when evaluating potential
opportunities.

FreAiTeRe TTeneT st <aTe gdeh ufeu S Uy 6. 146 | 150 3 v ST :

e Tfigyd § e ween (SR Sy g i F e 6 s €, awg: e e
T AN T B U S, E S e e St &1 et wed o) Sepi fafad FHRen 7 e, FHb H
T, 3 s uHTEl A FHE B ¥ 1 2 B @ e T e 3R SEe H SE IR Sga S g g e
wziaqgtwaﬁ?aﬁﬁaﬁaﬁa@%mmﬁ@mqﬁﬁﬁ%maﬁwmﬁmﬁaﬂ%mmm%

Tdiese gR T 7T T S75A9 o SATER 94% srfergmret iR 88% U= TH A1 I WIHR F ¢ 6 HIAT i
Tl SFHIRE H T TS H T o 37ed 4 I & | T § Wi 76% HHENE  Uh HRRIED HEpia
ﬁm@amﬁﬁg—uﬁuﬁamﬁmaﬁ;ﬂﬁ%mmuwﬁﬁmﬁ@ﬁmﬁm.‘q‘ﬁaﬁqﬁmﬁ%ﬂmﬁﬁsﬁ
F T ST WIS 39 A Tgd AUk N B § TRl Hifad we 3R wae § wga | whrd 1 A g
SRS | 2 e 3 et e € S € foR & W e e TR Sl ST e 3 TR S e
=1 A F W F G T R A TRR

STF ST WA S BT e B HEER o AT SR TS S e fen T | e el 3 S g
e, T TR 35 HTSA W ST €, S okl S S S e S e 31 o ¥y e w ¥ e
e T = REd & FRRe amEe (qRE) of S FHE FEnt W A 3 % o 3fa gen © ifs s e ™
1 i e o Hqfer T 1 TR 3 € | TS AR h T R et g | A WA SRR h e
73 % 70 § U, GHE S Tl T 9RE T €

-
[F=]

146. What is identified as the true differentiator for success in the business landscape ?

(1)  Operations and functions (2)  Unique work culture

(3)  Leadership skills (4)  External influences
Wmﬁmmwﬁﬁﬁﬁﬁﬁmﬁﬁwﬁtﬁaﬁﬁmﬁﬂaﬁmm%?
(1) WA #1 T @) fafore e i

@) g FIA (4)  STEa Ve

X 45 017
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What change in leadership perspective occur

147.
(1 Focus on increasing work hourse e
2) Prioritization of employee happiness and well-being
(3)  Emphasis on gtrict performance metrics -
4 Promotion on hierarchical structures % 5
@I !

IER-HEET e H Aged aﬂgwﬁaﬂq-mqﬁaﬂﬂaﬁﬂ
() ¥ E A 3fe WEEy

@ AT F TG S e i et o
@) HoR HE-TTHET HYT W s

(@) U HuiHe SIS il g

148. What aspect did 76% of surveyed employees emphasize

s having a direct influence on cultivating a posit,,
a -

culture ?

(1)  Workforce diversity 2 Financial incentives

(3)  Business strategy (@) Operational efficiency e
SERIT S ¥ TR Gt Yl e el 76% T e wd%rrf‘r!i’rﬁmwmaa .

(@) =EEE FEAf () (@ SHACE FEFIAN

In India’s startup ecosystem, what qualities are imperative for organizations to instill in their employees?

149.
(1)  Tradition and stability (?)  Innovation and resilience
(3)  Consistency and predictability (4) " Hierarchy and control
T ¥ ey it § fretatad § 8 S 4 T S vy S FHEal 4 sifurssifad A o fou STeevEs ¢
(1) TR SR wRnEE @) | AerER SR faehe
(3)  gEwfd SR qErgHE (4) " TEER SR A
150. How do organizations in the fast-moving startup ecosystem need to reshape their work culture ?

(1) By emphasizing tradition and stability
(2) By promoting stricthierarchy

(3) By instilling agility and innovation
(4) By increasing job insecurities

357t @ T g Y TGS § WS i e YR 37U 1 HRHT T T4 T I F AT %2

(1) T ST T SR S
(2)  EE HTR el S
(3) AfFTa1 ST TEY F1 WTEA 9 F

(4) T TGN TR

-000-
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